Mobius Math Club Name:

1 Figure out the answer by using the correct

m bi U S order of operations
-5 —12+2 =7

Math worksheet on 'Order of Operations - Add, (3 8 o 3 )
Subtract, Multiply, Divide with Parentheses (5
Numbers) (Level 1)'. Part of a broader unit on 'Order

of Operations - Advanced' S b e d e f
5 7 6 1 9 3
Learn online: app.mobius.academy/math/units/order of operations advanced/
2 Figure out the answer by using the correct 3 Figure out the answer by using the correct
order of operations order of operations
(3+5)+44+6x7=? (34+9)+2+5x4=7
a b c d e f a b c d e f
36 42 4 49 44 52 21 35 16 26 7 17
4 Figure out the answer by using the correct S  Figure out the answer by using the correct
order of operations order of operations
(6+2)+2+7x3=? (31-4)+3-14+7 =7
a b c d e f a b c d e f
6 25 18 19 17 1 7 8 0 11 2 14
6  Figure out the answer by using the correct 7 Figure out the answer by using the correct
order of operations order of operations
8x(6—5)x7—-4=7 (38—-2)+4-21+3 =7
a b c d e f a b c d e f
96 49 264 72 60 52 3 1 4 0 6 2
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